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Instructions / સૂચના
Candidate must ensure compliance to the instructions mentioned below, else objections 
shall not be considered: - 
(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically. 
(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet) 

published on the website. 
(3) All suggestions are to be submitted with reference to the Master Question Paper with 

provisional answer key (Master Question Paper), published herewith on the website. 
Objections should be sent referring to the Question, Question No. & options of the Master 
Question Paper.  

(4) Suggestions regarding question nos. and options other than provisional answer key (Master 
Question Paper) shall not be considered. 

(5) Objections and answers suggested by the candidate should be in compliance with the 
responses given by him in his answer sheet. Objections shall not be considered, in case, if 
responses given in the answer sheet /response sheet and submitted suggestions are differed. 

(6) Objection for each question shall be made on separate sheet. Objection for more than one 
question in single sheet shall not be considered & treated as cancelled. 

ઉમેદવાર ેનીચેની સૂચનાઓનંુ પાલન કરવાની તકેદારી રાખવી, અլયથા વાંધા-સૂચન અંગ ેકરલે રજૂઆતો իયાને
લેવાશે નહી ં
(1) ઉમેદવાર ેવાધંા-સચૂનો િનયત કરવામા ંઆવેલ વાંધા-સૂચન પԋકથી રજૂ કરવાના રહેશે. 
(2) ઉમેદવાર ેԐՇԐમાણે વાધંા-સચૂનો રજૂ કરવા વેબસાઈટ પર Ԑિસիધ થયેલ િનયત વાંધા-સૂચન પԋકના નમૂનાનો જ

ઉપયોગ કરવો.
(3) ઉમેદવાર ેપોતાન ેપરીԟામા ંમળેલ ԐՇપુિչતકામા ંછપાયેલ ԐՇԃમાંક મુજબ વાંધા-સૂચનો રજૂ ન કરતા તમામ વાંધા-

સૂચનો વેબસાઈટ પર Ԑિસիધ થયેલ Ԑોિવઝનલ આլસર કી (માչટર ԐՇપԋ)ના ԐՇ ԃમાંક મુજબ અન ેતે સંદભӪમાં
રજૂ કરવા. 

(4) માչટર ԐՇપԋ મા ંિનિદӪ Ջ ԐՇ અને િવકճપ િસવાયના વાંધા-સચૂન իયાન ેલેવામાં આવશ ેનહી.ં 
(5) ઉમેદવાર ેજ ેԐՇના િવકճપ પર વાંધો રજૂ કરલે છે અન ેિવકճપ ԁપ ેજ ેજવાબ સચૂવેલ છે એ જવાબ ઉમેદવાર ેપોતાની

ઉԱરવહીમા ંઆપેલ હોવો જોઈએ. ઉમેદવાર ેસચૂવેલ જવાબ અને ઉԱરવહીનો જવાબ િભՂ હશ ેતો ઉમેદવાર ેરજૂ
કરલે વાંધા-સચૂન իયાનમા ંલેવાશ ેનહી.ં 

(6) એક ԐՇ માટે એક જ વાંધા-સૂચન પԋક વાપરવું. એક જ વાંધા-સૂચન પԋકમા ંએકથી વધાર ેԐՇોની રજૂઆત કરલે
હશે તો ત ેઅંગેના વાધંા-સચૂનો իયાન ેલેવાશ ેનહી.ં 
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001. ¼ðkR yu ™]íÞ ™kxâ™ku „wshkŒe «fkh Au. Œus heŒu rðrðÄ hkßÞku™e ÞkËe I ™u rðrþü ÷kuf™kxâ ™k «fkh™e ÞkËe II
‚kÚku ÞkuøÞ òuze{kt „kuXðku.

 ÞkËe I  ÞkËe II

1. W¥kh «Ëuþ (a) òºkk

2. ƒt„k¤ (b) ™ðxtfe

3.  …tòƒ nrhÞkýk (c) Þûk¿kk™

4. yktÄú (d) Mðkt„
(A) 1 - b,  2- c,  3 - d,  4 - a (B) 1 - b,  2 - a,  3 - d,  4 - c
(C) 1 - d,  2 - a,  3 - c,  4 - b (D) 1 - a,  2 - c,  3 - b,  4 - d

002. ykurzþk þi÷e™k {trËhku™u fÞk ™k{Úke yku¤¾ðk{kt ykðŒk nŒk?

(A) rºkhÚk {trËhku (B) s„{kun™

(C) ‚qÞo {trËhku (D) ŒkhkÞ{

003. ‘ykE zuh’ ŒÚkk ‘fkWLx÷e ƒux™’ fku™e ykí{fÚkk Au?

(A) rðsÞk ÷û{e …trzŒ (B) ©e{Œe {u™fk „ktÄe

(C) rfhý ƒuËe (D) …wr™Œk yhkuhk

004. ¼khŒ™k fÞk yuf ©uc ‚t„eŒ þkMºke™e ÞþMðe fkhrfËeo™ku ykht¼ ‘hk{÷e÷k’™k yuf ‚k{kLÞ yr¼™uŒk y™u „kÞf
Œhefu fÞkuo nŒku?

(A) zkÌkk¼kE ™kÞf (B) ƒisw ƒkðhk

(C) …trzŒ yku{fkh™kÚk Xkfwh (D) rþðfw{kh þwõ÷

005. ™]íÞ ‚tMÚkk™ y™u Œu™k MÚkk…f yÚkðk ‚tf¤kÞu÷ {rn÷k™e òuzeyku …ife fE ‚k[e ™Úke?

(A) ™k÷tËk zkL‚ rh‚[o ‚uLxh – f™f hu÷u

(B) ‚uLxh Vkuh ErLzÞ™ õ÷kr‚f÷ zkL‚ – ‚ku™÷ {k™®‚n

(C) ™Œo™ rðãk…eX™k «Úk{ yk[kÞo – ytsr÷ {uZ

(D) ™Œo™ Mfq÷ ykuV õ÷kr‚f÷ zkL‚ – E÷kûke Xkfkuh

006. fåA{kt ™khkÞý ‚hkuðh™k fktXu rºkf{hkÞS, ÷û{e™khkÞý, ykrË™khkÞý, „kuðÄo™hkÞS, hýAkuzhkÞS y™u
÷û{eS™k {trËhku fkuýu ƒtÄkÔÞk nŒk?

(A) {nkhkýe {nkfwtðhƒk (B) hkð ¾U„khS

(C) {nkhkýe ynÕÞkƒkE (D) {hkXk þkMkfkuyu

007. ‚whuLÿ™„h™k zt„kr‚Þk ‚{ks îkhk nkÚkÚke ðýu÷ þk÷ su ¼hðkzku™ku …nuhðuþ Au, Œu þk÷ fÞk ™k{u yku¤¾kÞ Au?

(A) yshf (B) Œkt„r¤Þk

(C) ÷kuƒze (D) fk{Ëk™e

008. ¼kð™„h rsÕ÷k™k „kurn÷ðkz…tÚkf™k fku¤eòrŒ™k ÷kufku îkhk ¾k‚ fhe™u …kf fk…ýe «‚t„u fÞwt ™]íÞ fhðk{kt ykðu Au?

(A) nª[ ™]íÞ (B) Zku÷kuhkýku ™]íÞ

(C) „kuV „qtÚký ™]íÞ (D) zkufk y™u nwzkhk‚ ™]íÞ

009. ‚w«r‚Ø fkt‚k™e …qŒ¤e ®‚Äw ‚tMf]rŒ™k fÞk MÚk¤uÚke {¤e ykðe Au?

(A) nzÃ…k (B) ÷kuÚk÷

(C) {kunu-òu-Ëzku (D) fk÷e ƒt„™
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010. ™e[u™k …ife ÉøðuË™k fÞk ‚qõŒ{kt s„Œ™e Wí…r¥k rð»ku™wt ðýo™ fhðk{kt ykÔÞwt Au?

(A) ™k‚ËeÞ ‚qõŒ (B) ‚ku{ ‚qõŒ

(C) Ä{o ‚qõŒ (D) Yÿ ‚qõŒ

011. …kðhe, Œkz…wt yÚkðk zkuƒYt, hý®þ„w y™u ™k„Výe fÞk «fkh™k ðkãku{kt ‚{kðuþ Úkþu?

(A) ½™ðkãku (B) ŒtŒw ðkãku

(C) ‚wr»kh ðkãku (D) yð™æÞ ðkãku

012. ‘r…AðkE’ r[ºkf÷k ‚tË¼o{kt ™e[u™k …ife fÞk/fÞwt rðÄk™ ‚k[wt/‚k[k Au?

1.  …wrü{k„o r[ºkf÷k Au.

2. fu™ðk‚ W…h ËkuhkÞ Au.

3. ©e™kÚkS ¼„ðk™™e …kA¤ hk¾ðk{k ykðŒwt r[ºk.

4. fur÷fku BÞwrÍÞ{ ykuV xuõ‚xkR÷,þkneƒk„ y{ËkðkË¾kŒu ‚t„ún.

(A) 1, 2 y™u 3 (B) {kºk 1 y™u 3

(C) {kºk 2 y™u 4 (D) 1, 2, 3 y™u 4

013. M…u™™k M…q™{kt „wshkŒe, „rýŒ¿k y™u þçË÷kuf™k h[rÞŒk {nk™w¼kð ™e[u™k{ktÚke fkuý nŒk?

(A) h{ý÷k÷ òuþe (B) VkÄh ðk÷u‚

(C) f]»ýfktŒ …he¾ (D) Íqrƒ™ {nuŒk

014. fÞk yr¼÷u¾{kt yþkuf™e ‚kÚku ‘Ëuð™k{ r«ÞËþeo™e’™e yku¤¾ {¤u Au?

(A) {kMfe y™u „wsohk (B) «Þk„ «þrMŒ

(C) f÷‚e yr¼÷u¾ (D) {unhki÷e yr¼÷u¾

015. ðMŒw…k÷ y™u Œus…k÷ yu ƒ™kðu÷ {rÕ÷™kÚk™wt {trËh õÞkt ykðu÷wt Au?

(A) sq™k„Z{kt r„h™kh W…h (B) þºkwtsÞ …ðoŒ …h™kt {trËhku{kt

(C) þt¾uïh™k «k[e™ {trËhku{kt (D) ykƒw…ðoŒ …h™k Ëu÷ðkzk™k {trËhku

016. ‘¼kðkÚko Ëer…fk’ ™k{u „útÚk ƒeò fÞk ™k{u òýeŒku Au?

(A) Œw÷‚e hk{kÞý (B) ¿kk™uïhe „eŒk

(C) ©e ¼k»Þ (D) yuf™kÚk ¼k„ðŒ

017. ™e[u™k{ktÚke fÞwt rðÄk™ ¾kuxw Au?

(A) hÚk{trËhku yuf s …nkz fu rþ÷k fkuhe™u ƒ™kððk{kt ykðŒkt.

(B) ™h®‚nð{o™ …nu÷kyu {nkƒ÷e…wh{{kt ƒtÄkðu÷ f]»ý{tz… Œu™e rðþk¤Œk y™u fkuŒhfk{ {kxu òýeŒku Au.

(C) {k{Õ÷…wh{({nkƒ÷e…wh{) ™k{u ™„h ™trËð{o™ …nu÷kyu ð‚kÔÞwt nŒwt.

(D) E÷kuhk™e „wVkyku {nkhk»xÙ{kt ykiht„kƒkË ™Sf ykðu÷e Au.

018. „wÃíkfk÷e™ ‘ËþkðŒkh’™wt «r‚Ø {trËh õÞkt ykðu÷wt Au ?

(A) ¼e¥khe„kð (B) ¼q{hk

(C) Ëuð„Z (D) Ëþ…wh

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



APV - MASTER ] 3 [ P.T.O.

019. ¼khŒ{kt Þwhkur…Þ «òyku …ife ytøkúuòu îkhk ¼khŒ{kt snkt„eh …k‚uÚke ðu…kh fhðk™k rðþu»kkrÄfkh {u¤ððk ‚V¤
Úk™kh yt„úus «rŒr™rÄ fkuý nŒwt ?

(A) rðr÷Þ{ nkufeL‚ (B) Úkku{‚ rM{Úk

(C) suBMk ÷u™ fkMxh (D) ‚h xku{‚ hkì

020. “nwt {nkhk»xÙeÞ™ Awt, Œku {wtƒE þnuh W…h Ëkðku fYt, …htŒw Œu «§™ku r™ýoÞ {wtƒE™k „wshkŒeyku W…h Akuze Ëô Awt”
{nk„wshkŒ yktËku÷™ ‚tË¼uo yk fÚk™ fku™w nŒwt?

(A) rð™kuƒk ¼kðu (B) ÞþðtŒhkð [kinký

(C) þtfhhkð Ëuð (D) yu‚. fu. …kxe÷

021. ‚ku÷tfe ðtþ™k fÞk hkòyu ‘yr¼™ð r‚Øhks’ y™u ‘‚Ãík{ [¢ðŒeo’ suðk ™k{ku Äkhý fÞko nŒk?

(A) fw{kh…k¤ (B) ysÞ…k÷

(C) ¼e{Ëuð ƒeòu (D) ƒk¤ {q¤hks

022. ƒkiØ Ä{o™k Ä{o…wMŒf rºkr…xf™k ºký ‚{qnku{kt ™e[u™k …ife fku™ku ‚{kðuþ ÚkŒku ™Úke?

(A) rð™Þr…xf (B) ‚wŒ r…xf

(C) ÄB{r…xf (D) yr¼ÄB{r…xf

023. ƒk÷„t„kÄh rx¤fyu ð»ko 1881{kt yt„úuS{kt y™u {hkXe ¼k»kk{kt fÞk ƒu ðŒo{k™…ºkku îkhk ™ð ò„hý™e þYykŒ
fhe nŒe?

(A) ‘LÞw ErLzÞk’ y™u ‘ðLËu {kŒh{’ (B) ‘Äe {hkXk’ y™u ‘fuþhe’

(C) ‘Äe ÃÞwr…÷’ y™u ‘Mðhks’ (D) ‘Äe £e ®nËwMŒk™’ y™u ‘Þw„ktŒh’

024. ÷kuf‚¼k{kt 9(™ð) ð¾Œ y™u hkßÞ‚¼k{kt 2 ð¾Œ [qtxk™kh MðŒtºk ¼khŒ™k ðzk«Äk™ ƒ™™kh ™e[u™k …ife fkuý
nŒk?

(A) ©e{Œe RrLËhk „ktÄe (B) zkì. {™{kun™®‚n

(C) ©e yx÷rƒnkhe ðks…uÞe (D) …e.ðe. ™hr‚Bnkhkð

025. „wshkŒ{kt ‘nirzÞkðuhku’ ™k{u ðuhku ™e[u …ife™k fÞk yuf ‚íÞk„ún ‚kÚku ‚tf¤kÞu÷ku Au?

(A) ¾uzk ‚íÞk„ún (B) Ähk‚ýk™ku ‚íÞk„ún

(C) ƒkhzku÷e ‚íÞk„ún (D) ƒkuh‚Ë ‚íÞk„ún

026. ¼khŒ {kxu ƒtÄkhý‚¼k™e h[™k nuŒw ƒtÄkhý‚¼k™ku rð[kh ‚ðo«Úk{ fkuýu «MŒwŒ fÞkuo nŒku ?

(A) Mðhks …kxeo 1924 (B) fkU„úu‚ …kxeo 1936

(C) {wrM÷{ ÷e„ 1946 (D) ‚ðoË÷ ‚t{u÷™ 1946

027. ÞkuøÞ òuzfk òuzku.

 yrÄfkh /ÔÞðMÚkk       fÞk yrÄr™Þ{ ytŒ„oŒ

(a) …wÁ»k {rn÷k ‚{k™ {ŒkrÄfkh 1. ¼khŒ þkMk™ yrÄr™Þ{ 1935

(b) ‚ki «Úk{ fuLÿ{kt rî„]ne þkþ™ ÔÞðMÚkk 2. ¼khŒeÞ …rh»kË yrÄr™Þ{ 1892

(c) ‚ki «Úk{ ðkh [qtxýe ÔÞðMÚkk 3. {kuLxuøÞwt- [uBMkVzo yuõx- 1919

(d) {rn÷kyku™u {Œ yk…ðk™ku yrÄfkh 4. ¼khŒ ‚hfkh yrÄr™Þ{ 1935

(A) a - 4,  b - 1,  c - 2,  d - 3 (B) a - 3,  b - 4,  c - 2,  d - 1
(C) a - 1,  b - 4,  c - 3,  d - 2 (D) a - 2,  b - 1,  c - 4,  d - 3
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028. ¼khŒ™k ƒtÄkhý™e «MŒkð™k ‚tË¼uo ‘…tÚkr™h…uûk’™ku þku yÚko ÚkkÞ ?

(A) Ä{o™wt y™w…k÷™ ÔÞrõŒ™e RåAk …h r™¼oh Au. (B) ¼khŒeÞku™u Äkr{of MðŒtºkŒk «kÃík Au.

(C) ‚hfkh îkhk Ä{o ‚thûký (D) ƒÄks Ä{kuo™u ‚{k™ „ýe Œu{™wt {níð Mðefkhðwt.

029. ykrÚkof Y…Úke ™ƒ¤k ð„kuo {kxu y™k{Œ ‚tË¼uo ™e[u™k rðÄk™ku …ife fÞwt/fÞk rðÄk™ku ‚k[wt/‚k[kt Au?

1. 124{k ƒtÄkhýeÞ ‚wÄkhk ¾hzk™u {tsqhe yk…ðk{kt ykðe Au.

2. ykrÚkofY…Úke ™ƒ¤k ð„kuo™u ‚hfkhe ™kufheyku{kt 10 xfk y™k{Œ yk…u Au

3. þiûkrýf ‚tMÚkkyku{kt 05 xfk y™k{Œ «Ëk™ fhu Au

(A) {kºk 1y™u 2 (B) {kºk 2

(C) 1, 2 y™u 3 (D) {kºk 2 y™u 3

030. ¼khŒ™k ƒtÄkhý™e ykX{e y™w‚qr[{kt ƒtÄkhý {kLÞ 22 ¼k»kkyku{kt, 92{kt ƒtÄkhýeÞ ‚wÄkhk 2003 ytŒ„oŒ,
™e[u™k …ife fE fE ¼k»kkyku ‚{krðc fhðk{kt ykðu÷ Au?

(A) {rý…whe, ™u…k÷e, zku„he, ƒkuzku (B) fkUfýe, {rý…whe, ™u…k÷e, zku„he

(C) zku„he, {irÚk÷e, ƒkuzkuu, ‚tÚkk÷e (D) fkUfýe, {rý…whe, ™u…k÷e, {irÚk÷e

031. ¼khŒ™wt hk»xÙeÞ ð]ûk ‘ðz’ Au, Œku yLÞ fÞk hksÞ™wt hkßÞð]ûk …ý ‘ðz’ Au?

(A) {æÞ«Ëuþ (B) „wshkŒ

(C) Œkr{÷™kzwt (D) yktÄú«Ëuþ

032. hksÞku™k ðneðxeíktºk{kt fwþ¤Œk ðÄkhðk ŒÚkk hkßÞku îkhk fhðk{kt ykðŒk ÷kuffÕÞký™k fkÞkuo™e ‚{eûkk {kxu fku™k
îkhk fE Þkus™k þY fhðk{kt ykðe Au?

(A) furLÿÞ E÷uõxÙkur™f y™u {krnŒe «kiÄkur„fe {tºkk÷Þ îkhk‘E «{ký’ Þkus™k

(B) ¼khŒ ‚hfkh îkhk ‘MY GOVT’ Þkus™k

(C) ™erŒ ykÞku„ îkhk r™ÞŒ{

(D) ðzk«Äk™ îkhk ‚{ÞƒØ þkþ™ y™u ‚{ÞƒØ y{÷efhý «„rŒ …rhÞkus™k

033. E-„ð™oL‚™k {wÏÞ [kh {kìzu÷{kt ™e[u™k …ife fku™ku ‚{kðuþ ÚkŒku ™Úke?

(A) ‚hfkhÚke ™k„rhf (B) ‚hfkhÚke ‚hfkh

(C) ‚hfkhÚke ÔÞð‚kÞ (D) ‚hfkhÚke ðneðxŒtºk

034. furLÿÞ «Ëq»ký r™Þtºký ƒkuzo (Central Pollution Control Board) .......... «fkh™e ‚tMÚkk Au.

(A) ðiÄkr™f (B) r™Þ{™fkhe

(C) yÄo-LÞkrÞf (D) ƒtÄkhýeÞ

035. ™e[u™k{ktÚke fÞwt …t[ ¼khŒ™k ƒtÄkhý™k yuf y™wåAuË nuX¤ ‚wM…ü òu„ðkE «{kýu h[kÞu÷ Au?

(A) rðï rðæÞk÷Þ y™wËk™ …t[ (UGC) (B) hk»xÙeÞ {k™ð yrÄfkh …t[

(C) [qtxýe …t[ (D) furLÿÞ ‚ŒfoŒk …t[

036. ¼khŒ™k ƒtÄkhý{kt yktŒhhk»xÙeÞ þktrŒ y™u ‚whûkk™e òu„ðkE þk{kt fhðk{kt ykðe Au?

(A) {q¤¼qŒ Vhòu (B) ƒtÄkhý™wt yk{w¾

(C) hkßÞ™k {k„oËþof r‚ØktŒku (D) ™ð{e y™w‚qr[
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037. yktŒhhk»xÙeÞ ‚kih ‚t„X™(RLxh™uþ™÷ ‚ku÷h yu÷kÞL‚) ™e MÚkk…™k ykuõxkuƒh 2015{kt fÞk ƒu Ëuþku™k ‚nÞku„Úke
fhðk{kt ykðe nŒe?

(A) ¼khŒ y™u EÍhkÞu÷ (B) ¼khŒ y™u £kt‚

(C) £kt‚ y™u s{o™e (D) ¼khŒ y™u ò…k™

038. ‘¼khŒ - ƒktø÷kËuþ s{e™ ‚hnË fhkh’ Œhefu yku¤¾Œku ƒtÄkhýeÞ ‚wÄkhku fÞku Au?

(A) 98{ku ƒtÄkhýeÞ ‚wÄkhku (B) 97{ku ƒtÄkhýeÞ ‚wÄkhku

(C) 100{ku ƒtÄkhýeÞ ‚wÄkhku (D) 86{ku ƒtÄkhýeÞ ‚wÄkhku

039. ¼khŒ™k ƒtÄkhý{kt …kt[{e y™u Aêe y™w‚qr[ (Schedules)™e òu„ðkE™e[u™k{ktÚke fku™k {kxu fhðk{kt ykðe Au?

(A) y™w‚wr[Œ s™òrŒyku™k rnŒku™k hûký {kxu

(B) hkßÞku ðå[u ‚e{kyku ™¬e fhðk {kxu

(C) …t[kÞŒku™e ‚¥kkyku yrÄfkh y™u sðkƒËkheyku ™¬e fhðk {kxu

(D) ƒÄe ‚e{kðŒeo hksÞku™k rnŒku™k hûký {kxu

040. ƒk¤fku™k ƒtÄkhýeÞ yrÄfkhku …ife hkßÞ™u, Œ{k{ ƒk¤fku fux÷k ð»ko™e ô{h™k ÚkkÞ íÞkt ‚wÄe r™:þwÕf, «khtr¼f
ƒk¤‚t¼k¤ y™u rþûký™e ÔÞðMÚkk™e sðkƒËkhe ‚ku…u Au?

(A) 14 ð»ko fhŒkt ykuAe (B) 6 Úke 14 ð»ko

(C) 0 Úke 6 ð»ko (D) 0 Úke 10 ð»ko

041. ™e[u™k{ktÚke fÞwt ¼khŒ™k Ëhuf ATM™u òuzu Au?

(A) ¼khŒeÞ ƒuLf yu‚kurþyuþ™ (B) ™uþ™÷ r‚õÞwrhxeÍ rz…kurÍxhe r÷r{xuz

(C) ™uþ™÷ …u{uLx fku…kuohuþ™ ykuV ErLzÞk (D) ¼khŒeÞ rhÍðo ƒuLf

042. Ë‚{e …t[ð»keoÞ Þkus™k (2002 -2007)™ku {wÏÞ WÆu~Þ ™e[u™k …ife þwt nŒku?

(A) Œeðú y™u ðÄw ‚{kðuþe rðfk‚ (B) Œeðú ‚{kðuþe y™u ‚t…ku»ke rðfk‚

(C) f]r»k rðfk‚ «urhŒ ‚{]rØ (D) ‚k{krsf LÞkÞ y™u ‚{k™Œk ‚kÚku ykrÚkof rðfk‚

043. ¾[o rðr™Þku„ ¾hzku yux÷u þwt?

(A) ™kýk ¾hzku

(B) ÷u¾k™wËk™ y™w‚kh™k ¾[o™e {tsqhe {kxu™ku ¾hzku

(C) yufrºkŒr™rÄ{ktÚke fhðk{kt ykðŒk ¾[o™e{tsqhe {kxu™ku ¾hzku

(D) …qhf {kt„ýeyku™k ¾[o {kxu™ku ¾hzku

044. f]r»k y™u ¾uzqŒ fÕÞký ƒkƒŒku™k furLÿÞ {tºkk÷Þu s{e™ ykÄkhu ¾uzqŒku™wt ð„eofhý ònuh fÞko {wsƒ {kuxk ¾uzqŒku
fux÷e s{e™ ÄhkðŒk nkuðk òuEyu?

(A) 20 nufxhÚke ðÄw (B) 10 nufxhÚke ðÄw

(C) 4 Úke 10 nufxh (D) 5 nufxhÚke ðÄw

045. ÷½w ƒuLf (Small Finance Bank) y™u …u{uLx ƒuLf (PB) Œhefu ÷kÞ‚L‚ ykðuËf …k‚u fux÷e ÷½w¥k{ {qze nkuðe
sYhe Au ?

(A) Y. 50 fhkuz (B) Y. 100 fhkuz

(C) Y. 500 fhkuz (D) Y. 250 fhkuz
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046. ™e[u Ëþkoðu÷ fE Þkus™k ytŒ„oŒ y™w‚wr[ŒòrŒ, y™w‚wr[s™òrŒ y™u {rn÷kyku™k ÔÞð‚kÞ ™u «kuí‚krnŒ fhðk
{kxu rÄhký yk…ðk{kt ykðu Au?

(A) Mxkxo y… ErLzÞk (B) MxuLz y… ErLzÞk

(C) «Äk™{tºke {wÿk Þkus™k (D) {uf E™ ErLzÞk

047. þuhze{ktÚke Wí…krËŒ RÚku™ku÷ ™u …uxÙku÷{kt r{r©Œ(10 %) fhðk™k ‚hfkh™k r™ýoÞÚke EÚku™ku÷ Wí…kË™{kt ykðu÷e
¢ktrŒ fE ¢ktrŒ Œhefu yku¤¾kÞ Au ?

(A) hsŒ ¢ktrŒ (B) {eXe ¢ktrŒ

(C) f]»ý (fk¤e) ¢ktrŒ (D) ¼q¾he ¢ktrŒ

048. rf‚k™ ¢urzx fkzo Þkus™k™w {k¤¾wt fku™k îkhk ŒiÞkh fhðk{kt ykðu÷ Au?

(A) rhÍðo çkUf ykuV ErLzÞk (B) ™kƒkzo

(C) ™uþ™÷ ¢urzx „uhtxe xÙMx ft…™e (D) #rzÞ™ ƒuLf

049. ðirïfhý ™e «r¢Þk Úke ¼khŒ™u þku VkÞËku ÚkÞku ?

(A) GDP™kt ð]rØËh{kt ðÄkhku (B) r™fk‚{kt ðÄkhku

(C) „úknfku {kxu …‚tË„e{kt ðÄkhku (D) W…hkuõŒ Œ{k{

050. þnuhe ûkuºk{kt “„heƒe hu¾k” {k…ðk{kxu ™e[u™k{ktÚke ‚huhkþ fux÷e ykuAk{kt ykuAe fu÷he «rŒrË™ «rŒ ÔÞrõŒ {kxu
r™ÄkorhŒ fhðk{kt ykðe Au?

(A) 2100 (B) 2200

(C) 2400 (D) 2700

051. ™erŒ ykÞku„ ™e …nu÷ (Initiatives) Œhefu hkßÞ™k {wÏÞ {tºkeyku™e ºký W…‚r{rŒyku îkhk rh…kuxo ŒiÞkh fhe hsq
fhðk{kt ykðu÷ Au, su{kt ™e[u™k …ife fÞk yuf rð»kÞ™ku ‚{kðuþ ÚkŒku ™Úke ?

(A) {urzf÷ rþûký ûkuºku ‚wÄkhku (B) fuLÿ …kur»kŒ Þkus™kyku

(C) MðåA ¼khŒ yr¼Þk™ (D) rMf÷ zuð÷…{uLx

052. ™e[u™k …ife fE [es ðMŒw „wshkŒ™k ¼ki„kur÷f ‚tfuŒku™e ÞkËe{kt ‚{krðü ÚkŒe ™Úke? (GI - Geographical
indication)

(A) ‚t¾uzk Vr™o[h y™u Œu™ku ÷ku„ku (B) „eh™e fu‚h fuhe

(C) ¼kr÷Þk ½ô (D) ytòh™k ‚qze [Ã…k

053. „wshkŒ™k rðþk¤ rðMŒkh{kt ¼qMŒh Œhefu hnu÷k ƒu‚krÕxf ÷kðk{kÚke ƒ™u÷k yrø™f]Œ ¾zfku™u fÞk ™k{u yku¤¾ðk{kt
ykðu Au?

(A) Ã÷wxkur™f ¾zfku (B) zu¬™ xÙu… ¾zfku

(C) rËÕne MŒhku (D) ÷k{uxk MŒhku

054. sw™k„Z rsÕ÷k{ktÚke {¤e ykðŒk fuÕ‚kEx ¾™es™k sÚÚkk™u þk™k Œhefu yku¤¾ðk{kt ykðu Au ?

(A) …™k÷k rz…kurÍx (B) r{r÷Þku÷kRx

(C) VT÷kuh‚…kh (D) zku÷ku{kEx

055. „wshkŒ{kt Wí…kËeŒ ÚkŒk …kfku y™u Ëuþ{kt Œu™ku ¢{™e òuz …ife fE òuz ¾kuxe Au?

(A) yuhtzku – «Úk{ (B) Œ{kfw – ƒeòu

(C) SYt, ðrhÞk¤e, E‚ƒ„w÷ – «Úk{ (D) ƒkshe – ƒeòu
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056. ¼khŒ{kt yktŒrhf s¤{k„o …rhðn™™u ò¤ððk ‚tË¼uo ‚hfkhu ™e[u™k …ife fÞk s÷{k„o™u hk»xÙeÞ Äkuhe{k„o™ku Ëhßòu
ykÃÞku ™Úke ?

(A) nÕËeÞkÚke yÕnkƒkË ‚wÄe

(B) ƒhkf ™Ëe™k ÷¾…whÚke ¼kt„k

(C) ÄwƒheÚke ™krËÞk ‚wÄe

(D) fuh¤{kt Wãku„ {tz¤ ™nuh y™u [k…kfkh fu™k÷ ™e ‚kÚku …rù{ rf™khk™e fkuèkfh{ ™nuh

057. ¼khŒ™e {wÏÞ ykÞkŒ ÚkŒe ðMŒwyku{kt ™e[u™k …ife þk™ku ‚{kðuþ ÚkŒku ™Úke ?

(A) ÷ku¾tz r‚ðkÞ™e ¾r™òu (B) ¾kÄŒu÷

(C) ¾kŒhku (D) Es™uhe ‚k{k™

058. rþðk÷ef™e Œ¤uxe{kt fkt…™k …t¾kfkh {uËk™ òuðk {¤u Au, su™e s{e™ MÚkq¤({kuxk) y™u „ku¤ fktfhkðk¤e nkuÞ Au su™u
............. fnuðk{kt ykðu Au.

(A) hkZ (B) ŒhkE

(C) ¼kƒh (D) ÷kyku‚

059. fÞk «fkh™e ¾uŒe{kt st„÷ku™u fk…e fu ƒk¤e™u ¾uŒhku ŒiÞkh fhe Œu{kt y™ks, {fkE ftË{q¤, Œ{kfw, þuhze ð„uhu™wt
ðkðuŒh fhðk{kt ykðu Au ?

(A) ƒk„kÞŒe ¾uŒe (B) Íq{ ¾uŒe

(C) ÔÞk…khe ¾uŒe (D) sið ¾uŒe

060. ™e[u™k V¤ku y™u þkf¼kS …ife fÞk Wí…kË™™k ‚tçktÄu ¼khŒ rðï{kt «Úk{ ™tƒh Au?

(A) ÿkûk (B) ƒxkxk y™u xk{uxkt

(C) fuhe y™u fu¤kt (D) ……iÞk, y™k™‚

061. ¼khŒ™e 2011 ðMŒe rðŒhý™k ‚tË¼uo ™e[u sýkðu÷ fux÷ef ÷kûkrýfŒkyku …ife fE ƒkƒŒ ‚k[e ™Úke ?

(A) W¥kh«Ëuþ, {nkhk»xÙ, rƒnkh, …rù{ ƒt„k¤ ŒÚkk yktÄú«Ëuþ hkßÞku{kt Ëuþ™e ÷„¼„ yzÄe ðMŒe ð‚ðkx
fhu Au.

(B) ¼khŒ™e yuf [ŒwÚkkOþ ðMŒe W¥kh«Ëuþ y™u {nkhk»xÙ{kt ð‚ðkx fhu Au.

(C) r‚r¬{ hkßÞ™e ðMŒe ¼khŒ™k Œ{k{ hksÞku™e ðMŒeÚke ykuAe Au.

(D) ÷ûkîe… (fu.þk.) ™e ðMŒe ¼khŒ™e fw÷ ðMŒe™e xfkðkhe™k 0.05 Au

062. ®‚Äw ™Ëe™e {wÏÞ þk¾k ™Ëeyku …ife ‚kiÚke {kuxe þk¾k ™Ëe fE Au?

(A) Íu÷{ (B) r[™kƒ

(C) hkðe (D) rƒÞk‚

063. fÞk Þw„™k ¾zfku „wshkŒ™k ykþhu 19553 [kuh‚ rf.{e. yux÷u fu, fw÷ rðMŒkh™k 10.0 xfk rðMŒkh{kt òuðk {¤u Au?

(A) {u‚kuÍkuEf Þw„ (B) ykrfoÞ™ Þw„

(C) xrþoyhe Þw„ (D) õðkxo™he

064. yÃ‚hk, ‚kÞh‚, Íhe™k, …wrýo{k, Äúwð y™u fk{e™e - ™k{ku fku™e ‚kÚku ‚tf¤kÞu÷k Au?

(A) yýw{Úkfku (B) r{‚kEÕ‚

(C) yðfkþe W…„únku (D) yýwrhyuõxhku
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065. yýw rð¿kk™ ™ku «kht¼ fÞk ði¿kkr™fÚke ÚkÞku?

(A) LÞwx™ (B) ykELMxkE™

(C) zkÕx™ (D) „ur÷÷eyku

066. ¼khŒ™k ™e[u sýkðu÷ ði¿kkr™fku …ife fÞk ði¿kkr™f ™kuƒu÷ …krhŒkur»kf rðsuŒk ™Úke?

(A) zkì.‚wƒúñÛÞ{ [tÿþu¾h (B) zkì.[tÿþu¾h ðUfxhk{™

(C) hkò h{LLkk (D) zkì. nh„ku®ðË ¾whk™k

067. IRNSS ™wt …qYt ™k{ þwt Au ?

(A) INDIAN RATIONAL NAVY SATELLITE SYSTEM

(B) INDIAN REGIONAL NAVIGATION SATELLITE SYSTEM

(C) INDIAN RETIONAL NAVY SATELLITE SYSTEM

(D) INDIAN REMOTE NAVIGATION SATELLITE SYSTEM

068. ™e[u Ëuþ ŒÚkk Œu™e ‚t[hý ÔÞðMÚkk yk…u÷e Au, Œu™k ykÄkhu ‚k[k òuzfk òuzku

Ëuþ – ‚t„X™ ‚t[hý ÔÞðMÚkk

(a) hrþÞk 1. S.…e.yu‚

(b) y{urhfk 2. rƒËkW

(c) [e™ 3. ø÷ku™k‚

(d) Þwhku…eÞ™ Þwr™Þ™ 4. „ur÷÷eÞku

(A) a - 2,  b - 1,  c - 3,  d - 4 (B) a - 3,  b - 1,  c - 2,  d - 4

(C) a - 3,  b - 1,  c - 4,  d - 2 (D) a - 2,  b - 1,  c - 4,  d - 3

069. Efku-{kfo fuðk ¼khŒeÞ Wí…kË™ku™u yk…ðk{kt ykðu Au ?

(A) þwØ y™u ¼u¤‚u¤ hrnŒ (B) «kuxe™ ‚{]Ø

(C) …Þkoðhý-{iºke…qýo (D) ykrÚkof heŒu ‚Øh

070. ykuÍku™ MŒh fku™kÚke hûký yk…u Au ?

(A) á~Þ{k™ «fkþ (visible light) (B) RL£khuz huzeyuþ™ (Infrared Radiation)

(C) yuõ‚ hu y™u „u{k rfhýku (D) yÕxÙkðkÞku÷ux rfhýkuí‚„o (Ultraviolet Radiation)

071. ¼khŒu [LÿÞk™-1 ™u õÞkhu «MÚkkr…Œ fÞwO nŒwt ?

(A) 2007 (B) 2008

(C) 2009 (D) 2010

072. yk…r¥k (Ëw½ox™k) ÔÞðMÚkk…™ (Disaster Management) fkÞËku õÞkhu ƒ™kððk{kt ykÔÞku ?

(A) 2006 (B) 2003

(C) 2005 (D) 2009

073. ykrxorVrþÞ÷ ELxur÷sL‚ ûkuºku B. Tech yÇÞk‚¢{ þY fh™khe Ëuþ™e «Úk{ ‚tMÚkk fE Au ?

(A) IIT rËÕne (B) IIT niËhkƒkË

(C) IIT {wtƒE (D) IIT „ktÄe™„h
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074. «Äk™{tºke Wßsð÷k Þkus™k rðþu ™e[u™k …ife ¾hk rðÄk™ …‚tË fhku.

1. yk Þkus™k „heƒehu¾k ™e[u Sð™khk …rhðkhku™u hktÄý„u‚ f™uõþ™ yk…ðk yt„u Au.

2. yk Þkus™k {kxu «Äk™{tºke©e ‚t…Òk …rhðkhku™u LPG ‚ƒr‚ze™ku íÞk„ fhðk ‘Give it up’ …nu÷ fhe nŒe.

(A) {kºk 1 (B) {kºk 2

(C) 1 y™u 2 (D) W…h{ktÚke yuf …ý ™net

075. ™e[u™k …ife fE ‚tÏÞkyku™u 7 ðzu r™:þu»k ¼k„e þfkÞ ?

1. 195195        2. 181181        3. 120120        4. 89189

(A) VõŒ 1 y™u 2 (B) VõŒ 2 y™u 4

(C) VõŒ 1 y™u 4 (D) 1, 2, 3 y™u 4

076. òu 
23
3

 ™u 
19
9

 {ktÚke ƒkË fhðk{kt ykðu, y™u ŒVkðŒ™u 450 ðzu „wýðk{kt ykðu Œku, yk¾he sðkƒ þwt nþu ?

(A) 2045 (B) 2250

(C) 2450 (D) WõŒ …ife yuf …ý ™ne

077. 1 Úke 101 ðå[u fux÷e …qýoð„o ‚tÏÞk {¤u

(A) 08 (B) 09

(C) 06 (D) 07

078. 341.42 – 53.74 = ? – 62.86

(A) 260.44 (B) 340.4

(C) 350.54 (D) 450.54

079.
9.5 0.090

0.0018 0.19

  ™wt ‚kËwt Y… yk…ku.

(A) 100 (B) 25

(C) 50 (D) 75

080. {„™u 25 rf. „úk. [ku¾k Y. 32 «rŒ rf÷ku„úk{, y™u 15 rf. „úk.[ku¾k Y. 36 «rŒ rf„úk.÷u¾u ¾heËu Au. Œu yk ƒt™u
[ku¾k™e ðuhkÞxeÍ™u ¼u¤ðe «rŒ fe÷ku Y. 40.20 ÷u¾u ðu[u Au. Œku Œu™u fux÷k xfk ™Vku Úkþu ?

(A) 20% (B) 25%

(C) 30% (D) 40%

081. yuf Ëwfk™Ëkh 144 #zk «rŒ 90 …i‚k ÷u¾u ¾heËu Au. hMŒk{kt 20 #zk Œqxe òÞ Au, Œu ƒkfe #zk «rŒ Y. 1.20 ÷u¾u ðu[e
™k¾u Au Œku Œu™u fux÷k xfk ™Vku fu ™wfþk™ Úkþu ?

(A) 4.8% (B) 8.5%

(C) 12.9% (D) 14.8%

082. Y. 15000 ™wt ºký ð»ko™wt ‚kËwt ÔÞks Yk. 5400 ÚkkÞ Au, Œku ðkr»kof ÔÞks ™ku Ëh þkuÄku.

(A) 11.5% (B) 12%

(C) 12.5% (D) 15%
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083. yuf rð{k™ 240 rf.{e. «rŒ f÷kf ™e Íz…u 5 f÷kf{kt y{wf [ku¬‚ ytŒh fk…u Au, Œku yk s ytŒh 
21
3

 f÷kf{kt

fk…ðk Œuýu fux÷e Íz…u {w‚kVhe fhðe òuEyu?

(A) 300 rf.{e.«rŒ f÷kf (B) 360 rf.{e.«rŒ f÷kf

(C) 600 rf.{e.«rŒf÷kf (D) 720 rf.{e.«rŒ f÷kf

084. yuf rðÄkÚkeo™k 4 rð»kÞku{kt ‚huhkþ {kfo‚ 75 Au. òu Œu rðæÞkÚkeo 5(…kt[{k) rð»kÞ{kt 80 {kfo‚ {u¤ðu Au, Œku ™ðe
‚huhkþ þwt Úkþu?

(A) 72.5 (B) 76

(C) 77 (D) 77.5
085. 60 {e. ÷ktƒk y™u 30 {e. …nku¤k ƒ„e[k{kt ðå[u 4 {e. …nku¤kE ™ku ykzku y™u Q¼ku hMŒku Au, Œku yk hMŒk W…h 2

[ku. {e. ™e fux÷e ÷kËe …kÚkhe þfkÞ?

(A) 84 (B) 80

(C) 82 (D) 172

086. A {kuò™e yuf òuze 3 rËð‚{kt „qtÚke þfu Au. B yk òuze 9 rËð‚{kt fhe þfu Au, òu Œuyku ƒt™u ‚kÚku „qtÚkðk™e fk{„ehe
fhu Œku ƒu òuze {kuò fux÷k rËð‚{kt ƒ™kðe þfþu?

(A) 3 rËð‚ku (B) 4 rËð‚ku

(C) 
14
2  rËð‚ku (D) 5 rËð‚ku

087. ÷kfzk™e yuf …uxe™wt ƒnkh™wt {k… 22 ‚u.{e.  16 ‚u.{e.  14 ‚u.{e. Au. ÷kfzk™e òzkE 2 ‚u.{e. Au, Œu …uxe™u
ƒ™kððk{kt ÷k„Œk ÷kfzk™wt ½™V¤ (½™ ‚u.{e.{kt) fux÷wt nþu ?

(A) 2768 (B) 2938

(C) 1852 (D) 1725

088. ™e[u™e ykf]rŒ{kt fux÷k rºkfkuý Au ?

(A) 6 (B) 10

(C) 11 (D) 12

089 Þw™kRxuz ™uþL‚ yuLðkÞh{Ux «ku„úk{ 2020 ytŒ„oŒ ‘Þt„ [uÂBÃkÞL‚ ykuV Äe yÚko’ yuðkìzo {kxu ÚkÞu÷ ™k{ktf™{kt
¼khŒ™k fÞk …ÞkoðhýrðË™ku ‚{kðuþ ÚkkÞ Au?

(A) ÍkBçke {xu (B) r™heÞk yr÷r‚Þk „kr‚oÞk

(C) rðãwŒ {kun™ (D) rðæÞwŒ þuX

090. ¼khŒeÞ x…k÷ rð¼k„ y™u ErLzÞk …kuMx …u{uLx ƒuLf îkhk fE ™ðe rzrÍx÷ yu… ÷kuL[ fhðk{kt ykðe Au ?

(A) …kuMx PAY (B) zkf PAY

(C) RUPAY r‚÷uõx (D) RUPAY fkuLxuf÷u‚
091. 26 òLÞwykhe 2020 {kt Ëw½ox™k{kt {]íÞw …k{™kh fkuƒe ƒúkÞLx fE h{Œ ‚kÚku ‚tf¤kÞu÷ nŒk ?

(A) Vwxƒku÷ (B) xur™‚

(C) ƒuz®{x™ (D) ƒkMfux ƒku÷

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



APV - MASTER ] 11 [ P.T.O.

092. rððuf …rç÷fuþ™ îkhk òLÞwykhe 2020{kt ðzk«Äk™©e ™huLÿ {kuËe rðþu™k fÞk …wMŒf™wt rð{ku[™ fhðk{kt ykÔÞwt
nŒwt ?

(A) ßÞkurŒ…qts (B) ‚k{krsf ‚{h‚Œk

(C) f{oÞkuØk „útÚk (D) …heûkk ðkurhÞ‚o

093. ðÕzo nuÕÚk yku„uo™kRÍuþ™ ™wt ðzw {Úkf fE søÞkyu ykðu÷wt Au?

(A) rs™eðk, rMðxTÍh÷uLz (B) fuhku, ErsÃík

(C) ™ihkuƒe, fuLÞk (D) òunkr™‚ƒ„o, ‚kWÚk ykr£fk

094. ð»ko 2020™ku Þwðk „rýŒþkMºke Œhefu hk{k™ws™ …whMfkh «kÃík fh™kh ƒe™ ¼khŒeÞ {rn÷k fkuý Au ?

(A) y{÷uLËw r¢»™k (B) hk{ËkuhkE ‚wòÚkk

(C) rhŒƒúkŒk {wLþe (D) zkì. fuhkur÷™k yhkswyku

095. RBI îkhk 50000 Yr…ÞkÚke ðÄw™k [uf xÙkLÍuõþ™ {kxu 1÷e òLÞwykhe 2021Úke fE r‚Mx{ þY fhðk{kt ykðe Au ?

(A) yðuh™u‚ …u r‚Mx{ (B) r‚÷uõx …u r‚Mx{

(C) …kurÍrxð …u r‚Mx{ (D) ™ku ykuçsufþ™ …u r‚Mx{

096. y{urhfk™k ™ðk [qtxkÞu÷k òu rƒzu™u ¼khŒeÞ {q¤™k fku™u ‚nkÞf «u‚ ‚u¢uxhe…Ë {kxu ™kur{™ux fÞko Au ?

(A) ðuËktŒ …xu÷ (B) „kiŒ{ hk½ð™

(C) rð™Þ huœe (D) «u{ «fkþ

097. ‘r[Õ÷E f÷k™’, ‘r[Õ÷E ¾wËo’, ‘r[Õ÷E ƒå[k’ – þçËku ™e[u™k …ife fku™e ‚kÚku òuzkÞu÷ «[r÷Œ þçËku Au ?

(A) rþÞk¤w „h{ …kf {kxu

(B) sB{w f~{eh™k rn{ð»kko, y™u rþÞk¤k™k yrŒþÞ Xtze™k ‚{Þ „k¤k {kxu

(C) sB{w f~{eh™k „k÷e[k Œu{s f¤k ‚tMf]rŒ™k þçËku

(D) sB{w f~{eh™e …ht…hk„Œ hkßÞ h{Œku {kxu

098. ŒksuŒh{kt ™e[u™k …ife fE fE ƒkƒŒku/ ðMŒwyku™u Þw™uMfku™k ‚ktMf]rŒf nurhxus™e ‚qr[{kt ‚{kðuþ fhkÞku Au ? ™e[u™k
fkuz™ku W…Þku„ fhe ‚k[ku sðkƒ …‚tË fhku

1. ®‚„k…kuh™e nkufh ‚tMf]rŒ

2. W¥kh ykr£fk™e fw‚fw‚ ðk™„e

3. ÍktrƒÞk™wt ƒkirË{k ™]íÞ

4. M…u™™k ðkR™ nku‚o

(A) {kºk 1 y™u 2 (B) 1, 2 y™u 3

(C) {kºk 3 y™u 4 (D) 1, 2, 3 y™u 4

099. M{]rŒð™ ÄhŒeft… {u{kurhÞ÷ y™u BÞwrÍÞ{ «kusufx fE søÞkyu ƒ™kððk{kt ykð™kh Au?

(A) „ktÄeÄk{ ¾kŒu (B) ¼[kW ¾kŒu

(C) {ktzðe™k ËrhÞkrf™khu (D) ¼ws™k ¼wrsÞk zwt„h W…h

100. ‘r{þ™ ¼k„ehÚkk’ fÞk hkßÞ™wt …eðk™k ‚÷k{Œ …kýe {kxu™wt Au?

(A) rƒnkh (B) yktÄú «Ëuþ

(C) Œu÷t„kýk (D) W¥khk¾tz
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101. Downward pressure of a fluid in an open vessel is proportional to its:
(A) Length (B) Depth
(C) Area (D) Shape

102. The flow-rate from a 15 mm type A nozzle when working at a pressure of 4 bar would be:
(A) 300 litres per minute (B) 675 litres per minute
(C) 600 litres per minute (D) 60 litres per minute

103. If the shape of the orifice is changed so as to decrease the contraction, its capacity will be:
(A) Decreased (B) Increased
(C) Remained Same (D) None of the above

104. Multi stage centrifugal pumps are used to:
(A) Give high discharge (B) Produce high heads
(C) Pump viscous fluids (D) All of the above

105. Any liquid that has a closed-cup flash point at or above 100°F (37.8°C), as determined by the
test procedures is termed as:
(A) Combustible Solid (B) Combustible Gas
(C) Combustible Liquid (D) Combustible Dust

106. A fire that spreads rapidly through a diffuse fuel, such as dust, gas or the vapours of an ignitable
liquid, without the production of damaging pressure:
(A) Flash Fire (B) BLEVE
(C) Flash Over (D) All of the above

107. The maximum airborne concentration of hazardous substances to which, it is believed, nearly
all workers may be repeatedly exposed day after day without adverse effect
(A) Permissible Exposure Limit
(B) Immediately dangerous to Life And Health Value
(C) Threshold Limit Value
(D) Ceiling Value

108. To protect open areas with high and sloping ceilings, and wide-open areas, the most suitable
detector would be:
(A) Linear Beam Smoke Detector (B) Spot type Smoke Detector
(C) UV Heat Detector (D) All of the above

109. High pressure tubes and couplings shall be capable of withstanding a test pressure of _______
the maximum designed working pressure of PPSCBA:
(A) Twice (B) Two and Half
(C) Thrice (D) None of the above

110. The warning device of PPSCBA shall respond to at the latest when only _______ of the total
breathing air volume is left.
(A) One-third (B) One- fourth
(C) One-fifth (D) One-half

111. A mixture of flammable gas in air below the LEL will _______ when brought in contact with an
ignition source:
(A) Ignite (B) Not ignite
(C) Both (A) and (B) (D) None of the above
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112. Centrifugal pumps transport fluids by converting:

(A) Kinetic energy to hydrodynamic energy (B) Hydrodynamic energy to kinetic energy

(C) Mechanical energy to kinetic energy (D) Mechanical energy to Hydrodynamic energy

113. For dealing with polar solvent fires, the most suitable and effective fire fighting foam is:

(A) AFFF concentrate (B) Hazmat Foam concentrate

(C) Alcohol Resistant Foam Concentrate (D) All of the above

114. Radiative feedback can enhance the reaction rate so that the fire accelerates towards the:

(A) Growth Phase (B) Fully developed stage

(C) Decay Phase (D) All of the above

115. Above ground mains for external hydrant should be adequately supported at regular intervals
not exceeding 3.5 m. When located near buildings, the main should be at least _______ away
from the face of the building.

(A) 2 m (B) 3 m

(C) 4 m (D) 5 m

116. In case of industries of _______ category, the hydrants should be installed at every 30 m apart
along building line and the hydrant outlet should be single or double hydrant with provision of
landing valves. :

(A) Low hazard (B) Moderate Hazard

(C) High hazard (D) All of the above

117. The sound level (peak value) of fire alarm sounder shall be not less than 65 dB (A) and not more
than _______ when measured at a distance of 1.5 m:

(A) 70 dB (A) (B) 90 dB (A)

(C) 100 dB (A) (D) 120 dB (A)

118. The hose couplings shall be subjected to a hydraulic pressure of 21 kg/cm2 for a period of:

(A) 3 minutes (B) 2.5 minutes

(C) 2 minutes (D) 1 minutes

119. Carbon dioxide extinguisher shall not leak at a rate exceeding 5 percent of its content per _______:

(A) Month (B) Quarterly

(C) Half yearly (D) Annum

120. The gross vehicle weight of the Dry Powder Fire Tender shall be not less than:

(A) 6500 kg (B) 7500 kg

(C) 8500 kg (D) 9000 kg

121. Each carbon dioxide gas cartridge shall be subjected to an internal hydraulic pressure of _______
for a minimum period of one minute before filling:

(A) 200 kg/cm2 (B) 250 kg/cm2

(C) 300 kg/cm2 (D) 350 kg/cm2

122. Underground Static Water Tank for Riser should be designed suitably to bear a load of fire
appliance weighing up to:

(A) 10 Tonnes (B) 12 Tonnes

(C) 13 Tonnes (D) 18 Tonnes
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123. Two 9 litre water expelling extinguisher or ABC 5 Kg/6 Kg fire extinguisher, for every 200 m2

with minimum of 4 extinguishers for Class A fire, per compartment/floor is to be installed in:
(A) Low Hazard Occupancy (B) Medium Hazard Occupancy
(C) High Hazard Occupancy (D) Special Hazard Occupancy

124. Dry Chemical fire extinguishers to be refilled/operated for performance test in annually cyclic
manner once in:
(A) Two Years (B) Three Years
(C) Four Years (D) Five Years

125. Determining all possible fire load requires knowing as much as possible about:
(A) The building (B) Its contents
(C) Occupants (D) All of the above

126. When the oxygen content of the atmosphere falls below _______, a free-burning fire will begin
to smoulder:
(A) 15% (B) 19.5%
(C) 21 % (D) 23.5 %

127. As per UN and Department of transportation, the classification of hazardous material, Class 8
indicate:
(A) Flammable liquid (B) Flammable solids
(C) Corrosive (D) Radioactive

128. In case of the accident involving a small or large spill of hazmat, direct all persons to move, in
a _______ direction, away from the spill to the distance specified:
(A) Crosswind (B) Downwind
(C) Upwind (D) All of the above

129. The NFPA 704 Diamond provides an easy method of recognizing hazards of chemicals in which
Left Square, Colour-Coded Blue indicates:
(A) Reactivity hazards (B) Flammability hazards
(C) Health hazards (D) Special Information

130. The _______ property of a material is an important factor to consider when designing a
ventilation system to remove hazardous contaminants from a work space:
(A) Flash point (B) Vapour Density
(C) Vapour Pressure (D) Specific Gravity

131. The Pitot tube is used to measure:
(A) Flow of liquid (B) Pressure of liquid
(C) Velocity of liquid (D) Density of liquid

132. If the sprinkler head has green bulb, then the rating of the sprinkler head would be:
(A) 141°C (B) 93°C
(C) 68°C (D) 100°C

133. The emissive power of a black body is P. If its absolute temperature is doubled, the emissive
power becomes:
(A) 2P (B) 4P
(C) 8P (D) 16P
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134. Some of the finer dust particles, which can enter deep into the lungs are defined as:
(A) Respirable dust (B) Non- respirable dust
(C) Combustible dust (D) None of the above

135. Can be repeatedly softened and hardened by heating and cooling, without a chemical change
taking place is termed as:
(A) Thermosetting Plastic (B) Low density Plastics
(C) Thermoplastic (D) High density Plastics

136. Non-load bearing walls form a part of an element of structure of:
(A) Unframed Building (B) Framed Building
(C) Monolithic Building (D) All of the above

137. Dry Chemical such as BC or ABC extinguishers should not be used on fires involving:
(A) Inflammable Gas (B) Inflammable Liquid
(C) Combustible Solid (D) Combustible Metal

138. Foam will begin to lose water as soon as it is applied, and the speed at which the water is lost is
the foam’s:
(A) Drainage Rate (B) Burn-back Resistance
(C) Spreading Coefficient (D) All of the above

139. The _______ is the number of square feet of floor area required per occupant:
(A) Exit capacity (B) Exit Discharge
(C) Occupant Load (D) Travel distance

140. If a process normally requires a flammable solvent and a way to perform the same work with
any solvent is developed, the inherent hazards of the process are greatly reduced, then it is
termed as:
(A) Elimination (B) Substitution
(C) Isolation (D) Engineering Control

141. Except in areas specifically designated as safe for job work, a _______, shall be obtained before
starting any work that can involve a source of ignition:
(A) Welding and Cutting Permit (B) Confined Space Permit
(C) Hot Work Permit (D) None of the above

142. As per OSHA, an Oxygen Deficient Atmosphere means an atmosphere with an oxygen content
below _______ by volume:
(A) 16% (B) 19.5%
(C) 21% (D) 23.5%

143. In a normal oxygen-content confined space entry, the maximum concentration of flammable
vapours present must always be less than _______ of the LEL, regardless of the type of respiratory
protection required, in order to permit entry:
(A) 10% (B) 12%
(C) 16% (D) 19.5%

144. When hydrogen gas escapes at a rate that is proportional to the size of the orifice and the
internal pressure of the system, such leaks can be detected by:
(A) Toxic Gas Monitor (B) Oxygen Monitor
(C) Ultrasonic Monitor (D) All of the above
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145. The purpose of machine guarding is to protect against and prevent injury from:
(A) Point of Operation (B) Inrunning Nip
(C) Rotating Parts (D) All of the above

146. Industrial safety management if that branch of management which is concerned with _______
hazards from the industries:
(A) Reducing (B) Controlling
(C) Eliminating (D) All of the above

147. The following is indirect cost of accident:
(A) Money paid for treatment of worker (B) Compensation paid to worker
(C) Cost of lost time of injured worker (D) All of the above

148. The following is (are) are generally provided with limit switch to prevent motion beyond preset
limit:
(A) Hoists (B) Conveyors
(C) Machine tables (D) All of the above

149. International Tsunami information Center is located in:
(A) Honolulu (B) Goa
(C) Jakarta (D) Puducherry

150. The extent to which a community, structure, services or geographic area is likely to be damaged
or disrupted by the impact of particular hazard is termed as:
(A) Capacity (B) Vulnerability
(C) Risk (D) Hazard assessment

151. Indian Meteorological Department (IMD) calls a storm “Super cyclone” when the wind blows:
(A) More than 120 km /hour (B) More than 100km/hour
(C) More than 220km/ hour (D) None of the above

152. The National Executive Committee as per DM Act 2005 at central level is headed by:
(A) Union Home Minister (B) Union Home Secretary
(C) Vice Chairman, NDMA (D) Joint Secretary, DM

153. Which of the following is not part of geological disaster:
(A) Volcanoes (B) Earthquakes
(C) Tsunami (D) Sea Surge

154. A geophysicist who studies earthquakes and the mechanical characteristics of the Earth is called:
(A) Seismologist (B) Geologist
(C) Geographer (D) Archaeologist

155. The _______ is one of the key areas in assessing a facility’s commitment to loss control:
(A) Housekeeping (B) Electricity
(C) Flammable Stores (D) Heating Equipments

156. The division of a building into compartments by elements of a building construction intended
to resist the passage of fire is termed as:
(A) Fire Resistance (B) Passive Fire Protection
(C) Active Fire Protection (D) All of the above
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157. A sample of Dry Chemical powder shall be deemed to have met the requirement of Hygroscopicity
if the percentage gain in mass due to moisture absorption does not exceed _______ percent:
(A) One (B) One and Half
(C) Two percent (D) Two and half

158. When travelling at 48 km/h on a level dry surface the foot brake of Water Tender, Type ‘B’ shall
be capable of stopping the vehicle within a distance of _______ from the point at which the
brake is applied:
(A) 15 m (B) 16 m
(C) 20 m (D) 25 m

159. The fire pump primer of water tender shall be capable of lifting water at least 7.0 m in not more
than _______ when connected with 100 mm suction hose:
(A) 22 seconds (B) 24 seconds
(C) 28 seconds (D) 30 seconds

160. A minimum output of _______ of foam to each of the hand-lines on either side of the Air Crash
Fire Tender to give a minimum effective throw specified foam of 25 m at pump delivery pressures
not exceeding 8.5 kg/cm2 and using 30 m specified hose:
(A) 1000 litres (B) 700 litres
(C) 500 litres (D) 450 litres

161. The height of the ceiling of the temporary structure or pandal from the ground shall not, in any
case, be less that:
(A) 3 meters (B) 4 meters
(C) 6 meters (D) 9 meters

162. In case of temporary structure or pandal, Cross gangways shall be provided affording passage
after every _______ of seats, width of such passage being not less than 1.5 m:
(A) 8 row (B) 10 row
(C) 12 row (D) 14 row

163. The minimum density of discharge, in mm/min of water, for which a sprinkler installation is
designed, determined from the discharge of a specified group of sprinklers, in l/min, divided by
the _______:
(A) Volume covered, in mm3 (B) Distance covered, in m
(C) Area covered, in m2 (D) None of the above

164. For High Hazard occupancy, the density of water discharge for process risks shall be at least 10
l/min/m2 over an assumed area of operation covering _______:
(A) 84 m2 (B) 260 m2

(C) 360 m2 (D) 460 m2

165. If the pump is allowed to be installed above the level of its water supply, there shall be a foot
valve and a priming arrangement, the latter consisting of a tank having a capacity at least
_______ that of the suction pipe from the pump to the foot valve:
(A) One and Half Times (B) Two Times
(C) Three Times (D) Three and Half Times

166. Maximum number of sprinklers that can be fed from a range pipe shall not be more
than _______:
(A) Four (B) Five
(C) Six (D) Eight
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167. The system of colour coding of pipelines consists of a ground colour and colour bands
superimposed on it to identify the basic nature of the fluid carried through it, _______ colour
indicates acids:
(A) Sea Green (B) Dark Violet
(C) Smoke Grey (D) Black

168. A Jockey Pump of small capacity which is set to come into operation, automatically with drop
in _______ pressure in the system and to automatically stop when the pre-set pressure is reached
again:
(A) Running (B) Residual
(C) Static (D) All of the above

169. A _______ system could be installed in buildings under Group A occupancy where the height of
building is above 15 m but not exceeding 24 m up to terrace level:
(A) One down comer (B) Wet riser-cum-down-comer
(C) Fully sprinkled (D) All of the above

170. A substance that will not ignite and burn when subjected to a fire at 750°C shall be considered
_______ as per Standard Test Method for Behavior of Materials.
(A) Combustible (B) Non-combustible
(C) Fire Resistant (D) Fire Proof

171. A sprinkler system in which parallel cross mains are connected by multiple branch lines. An
operating sprinkler will receive water from both ends of its branch line while other branch
lines help transfer water between cross mains is known as:
(A) Looped Sprinkler System (B) Multi-Cycle System 8500 kg
(C) Pre-action Sprinkler System (D) Gridded Sprinkler System

172. In fire service, two delivery hoses of different diameter with instantaneous couplings attachment
can be connected by using:
(A) Hose adaptor (B) Breeching
(C) Couplings directly (D) None of the above

173. The cylindrical portion of short length, which connects converging and diverging section of
venturi-meter, is called as
(A) Diffuser (B) Connector
(C) Throat (D) Manometer tube

174. A _______ a continuous membrane with a fire protection rating, constructed to limit the spread
of fire is termed as:
(A) Smoke partition (B) Fire compartment
(C) Proscenium wall (D) Fire barrier

175. A supply of at least _______ spare sprinklers shall be maintained on the premises so that any
sprinklers that have operated or been damaged in any way can be promptly replaced:
(A) Four (B) Five
(C) Six (D) Eight

176. The _______ deals with issues related to defence of the country, law & order and internal security,
policy matters concerning foreign affairs that have internal or external security implications
and economic and political issues impinging on national security.
(A) High Level Committee (HLC)
(B) Cabinet Committee on Security (CCS)
(C) National Management Authority (NDMA)
(D) Cabinet Committee on Management of Natural Calamities (CCMNC)
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177. As mandated by the DM Act, the _______ has been created for projects exclusively for the
purpose of mitigation:
(A) PM – CARES fund
(B) National Disaster Response Fund (NDRF)
(C) National Calamity Contingency Fund (NCCF)
(D) National Disaster Mitigation Fund (NDMF)

178. The _______ is essentially a system to organise, command and control various emergency
functions in a standardised manner while responding to any disaster:
(A) Incident Response System (B) Emergency Operation Centre
(C) Standard Operating Procedure (D) None of the above

179. To determine the type of electrical installation, an area in which an explosive gas atmosphere is
likely to occur in normal operation is classified as:
(A) Zone 0 (B) Zone 1
(C) Zone 2 (D) All of the above

180. Flammable liquids having flash point 23°C and above but below 65°C is _______ liquid:
(A) Class A (B) Class B
(C) Class C (D) None of the above

181. A stronger breeze may so accelerate the dispersion of vapours that the extent of potentially
hazardous area would be greatly:
(A) Remained same (B) Increased
(C) Reduced (D) None of the above

182. The classification of hazard area surrounding a floating-Roof Tank under normal operating
conditions, the area surrounding the tank should be classified as Zone 2 and it shall extend
vertically _______ above the tank:
(A) One meter (B) Two meter
(C) Three meter (D) Four meter

183. Flammable liquids having flash point 23°C and above but below 65°C is _______ liquid:
(A) Class A (B) Class B
(C) Class C (D) None of the above

184. All static water tanks for fire fighting shall normally be located within _______ of the risk to be
protected:
(A) 60 meter (B) 100 meter
(C) 120 meter (D) 150 meter

185. For all risks coming under high hazard category and with single unobstructed floor area not
exceeding 1000 m2, it shall have water storage for fire fighting equivalent to 3 hours pumping
capacity minimum, when using _______ simultaneously each jet consuming 600 Ipm:
(A) 2 strong jets (B) 4 strong jets
(C) 6 strong jets (D) 8 strong jets

186. For cooling of adjoining flammable liquid tanks, additional quantity of water shall be provided
at the rate of 10 LPM/m2 of exposed surface of the next tank, for a period of at least _______:
(A) 4 hours (B) 3 hours
(C) 2 hours (D) 1 hours
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187. The pressure available at hydraulically most remote hydrant should not be less than _______
for light and moderate hazard:
(A) 3.5 kgf/cm2 (B) 4.5 kgf/cm2

(C) 5.25 kgf/cm2 (D) 7.0 kgf/cm2

188. The phases of burning/combustion is depend on:
(A) The amount of time the fire has burnt
(B) The ventilation characteristics of the confining structure
(C) The amount and type of combustibles present
(D) All of the above

189. Combustible Solids with specific surface of more than 20 Sq. cm/gm is termed as:
(A) Tinder (B) Kindling
(C) Bulk fuel (D) All of the above

190. Material with _______ specific heat will heat up more rapidly in fire conditions:
(A) Low (B) High
(C) Low or High (D) None of the above

191. The _______ are more indicative dangerous sign of building collapse during fire fighting/rescue
operation:
(A) Horizontal Cracks (B) Vertical Cracks
(C) Any Cracks (D) All of the above

192. Life of Water type fire extinguisher is:
(A) Five years (B) Ten years
(C) Fifteen years (D) None of the above

193. During water relay, if compound gauge of any intermediate pump shows reading on pressure
side, it means that the pump is delivering _______ than received:
(A) No Water (B) More Water
(C) Less Water (D) None of the above

194. The testing of On-Site emergency plans of hazardous industries every _______ months is a
statutory requirement.
(A) Two (B) Six
(C) Nine (D) Twelve

195. The disclosure of information via Material Safety Data Sheets (MSDS) by _______ to workers
on chemical hazards is a statutory requirement:
(A) Transporters (B) Safety Committee
(C) Occupiers (D) Plant Supervisor

196. The disaster is classified on the basis of magnitude of probable severity and level of control
required. The level at which surveillance, preparedness and mitigation activities carried out is:
(A) Level 0 (B) Level 1
(C) Level 2 (D) Level 3

197. The lowest concentration of clean agent fire extinguishant at which an adverse toxicological or
physiological effect has been observed is termed as:
(A) Lowest Observed Adverse Effect Level (LOAEL)
(B) No Observed Adverse Effect Level (NOAEL)
(C) Immediately Dangerous to Life and Health (IDLH)
(D) None of the above
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198. The travel time that begins when fire fighting units are en route to the emergency incident and
ends when units arrive at the scene is the:

(A) Dispatch time (B) Response Time

(C) Turnout Time (D) Call Processing time

199. A 4 kg object travelling at 8 m/s has a momentum of:

(A) 2 kg.m/s (B) 12 kg.m/s

(C) 32 kg.m/s (D) 0.5 kg.m/s

200. The characteristic curves of a centrifugal pump, plots _______ required by the pump.

(A) Velocity (B) Pressure

(C) NPSH (D) Velocity and pressure

201. Probability of the event that might occur X Severity of the event if it occurs =

(A) Accident (B) Hazard

(C) Risk (D) None of the above

202. Check list for Job Safety Analysis (JSA) consists of:

(A) Work area, material, machine, tools (B) Men, machine, material, tools

(C) Men, machine, work area, tools (D) Men, work area, Material, tools

203. If the pre-mixture flows into a flame with laminar flow whose velocity is _______ to the burning
velocity of the mixture, the flame can be held stationary:

(A) Less (B) More

(C) Equal (D) None of the above

204. In large fire (more than 1 m in diameter), the flames are _______ diffusion flames, due to the
turbulence generated by the strong buoyancy of the flames themselves.

(A) Turbulent (B) Laminar

(C) Pre-mixed (D) All of the above

205. The term _______ is used to describe what happens if the temperature of the fuel is much
greater than the fire point and a flammable vapour/air zone exists at some distance from the
liquid surface:

(A) Fireball (B) Flash fire

(C) Vapour Cloud explosion (D) None of the above

206. The resistance of electric circuit depends on:

(A) Length of the conductor (B) Cross sectional area of the conductor

(C) Temperature (D) All of the above

207. Strategy that exists during which a designated person or persons provide assistance, during an
emergency, to another person(s) to leave a building or a specific part of the built environment
and to reach a final place of safety is termed as.

(A) Assisted Evacuation (B) Complete Evacuation

(C) Phased Evacuation (D) All of the above

208. Covered area equals the plot area _______ the area due for open spaces in the plot:

(A) Divide by (B) Plus

(C) Minus (D) None of the above
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209. The unobstructed component of means of egress which is between the exit access and the exit
discharge or public way includes:
(A) Exterior exit doors (B) Interior exit stairways
(C) Exit passageways (D) All of the above

210. The firefighting shaft (Fire Tower) shall be equipped with _______ fire resistance rating fire
doors with firemen talk-back, wet riser and landing valve in its lobby.
(A) 60 min (B) 120 min
(C) 180 min (D) 240 min

211. All buildings, whether existing or hereafter erected shall be classified according to use or the
character of occupancy, mercantile building comes under _______:
(A) Group D (B) Group E
(C) Group F (D) Group G

212. The _______ shall include any building or part of a building, where not less than 50 persons
congregate or gather:
(A) Institutional Buildings (B) Assembly Buildings
(C) Business Buildings (D) Mercantile Buildings

213. Temporary buildings and structures shall not be permitted in _______ as the case may be,
according to the purpose for which these are to be used.
(A) Fire Zones No. 1 (B) Fire Zones No. 2
(C) Fire Zones No. 3 (D) All of the above

214. A high rise building during construction shall be provided with the following fire protection
measures:
(A) Dry Riser (B) Wet riser
(C) Fire Alarm (D) All of the above

215. Medium and low voltage wiring running in shafts, and within false ceiling shall run in _______:
(A) PVC conduit (B) Metal conduit
(C) Electrical Non-metallic Tubing (D) All of the above

216. A substation or a switch-station with oil filled equipment shall be limited to be installed in
utility building or in outdoor location and be at least _______ away from the adjoining building(s):
(A) 5 m (B) 6 m
(C) 7 m (D) 8 m

217. The colour of the exit signs shall be:
(A) Green (B) Yellow
(C) Red (D) Blue

218. The wordings, ‘FIRE OPENABLE PANEL OPEN IN CASE OF FIRE, DO NOT OBSTRUCT’
of at least 25 mm letter height shall be marked on the internal side of:
(A) Glass Facade Panel (B) Glass Window Panel
(C) Glass Door Panel (D) All of the above

219. Based on the rate of spread of flame, surfacing material shall be considered as divided into four
classes, where ‘Surfaces of low flame spread’ indicates:
(A) Class 1 (B) Class 2
(C) Class 3 (D) Class 4
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220. The number of staircase risers shall be limited to:
(A) 8 per flight (B) 10 per flight
(C) 12 per flight (D) 14 per flight

221. For pressurization of enclosed staircases adjacent to non-pressurized lobby (or corridors), the
pressure differential shall be:
(A) 30 Pa (B) 40 Pa
(C) 50 Pa (D) 55 Pa

222. Underground static water storage tank combined capacity for wet riser, yard hydrant and
sprinklers per set of pumps for (sub division Hotel A-5) buildings 15 m and above but not
exceeding 30 m shall be:
(A) 100000 litres (B) 150000 litres
(C) 200000 litres (D) 150000 litres

223. It may be planned to provide orifice plates for landing valves to control pressure to desired
limit especially at _______ level in high rise buildings:
(A) Lower (B) Higher
(C) Pump room (D) None of the above

224. For fighting fires in cable tunnels and other confined areas _______ foams are used:
(A) Low Expansion (B) Medium Expansion
(C) High Expansion (D) All of the above

225. Refuge area(s) shall be provided at/or immediately above 24 m and thereafter at every _______
or so:
(A) 24 m (B) 18 m
(C) 15 m (D) 12 m

226. A person who has an “inordinate or ungovernable enthusiasm for starting fires, who lacks a
conscious motivation for his fire setting” is:
(A) Pyrotechnic (B) Pyromaniac
(C) Schizophrenic (D) None of the above

227. During fire investigation, the physical signs and substances that reveal, by implication, how a
fire developed are referred to as _______:
(A) “Fire Indicator” (B) “Fire Pattern”
(C) “Fire Language” (D) All of the above

228. Spalling is a condition ordinarily not associated with _______ building materials:
(A) Brick (B) Cement
(C) Stone (D) Timber

229. As per Gujarat Fire Prevention and Life Safety Regulation, 2016, the occupier or owner disobey
the directives of fire authority while erecting temporary pandal, then he may be fined up to
_______:
(A) Rs. 20,000 (B) Rs. 25,000
(C) Rs. 35,000 (D) Rs. 50,000

230. As per Gujarat Fire Prevention and Life Safety Regulation, 2016, on an application from fire
expert, the competent authority may for its jurisdiction register fire expert for a period of
_______ :
(A) One year (B) Two year
(C) Three year (D) Four year

23
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231. As per Gujarat Fire Prevention and Life Safety Regulation, 2016, electric cable/wires used
shall be of _______ grading with mechanical circuit breaker and earth leak circuit breaker:
(A) 500 volts (B) 600 volts
(C) 700 volts (D) 800 volts

232. As per Gujarat Fire Prevention and Life Safety Regulation, 2016, fire alarm system with smoke
detection shall be provided for all non-residential buildings having height of _______ :
(A) Less than 25 meters (B) More than 25 meters
(C) Less than 24 meters (D) More than 24 meters

233. As per Gujarat Fire Prevention and Life Safety Regulation, 2016, for hydrant system on/off
switches shall be located _______ at each floor for the main fire pump. :
(A) Near hose reel hose or hydrant outlet (B) At the floor landing
(C) In the pump room (D) All of the above

234. As per Gujarat Fire Prevention and Life Safety Regulation, 2016, for buildings more than 40
meters in height shall be provided open space of _______ wide, adjacent to the building:
(A) 4 meters (B) 6 meters
(C) 8 meters (D) 9 meters

235. As per Gujarat Fire Prevention and Life Safety Regulation, 2016, all lifts of the building shall
be fire lifts and shall have provision to ground in case of electrical failure:
(A) True (B) False
(C) Can’t say (D) None of the above

236. A _______ is the weight of the building itself. It includes the weight of all permanent fixed
items, such as floor framing, walls, ceilings, roofing, and major fixed service equipment:
(A) Live Load (B) Wind forces
(C) Dead Load (D) Earthquake force

237. If the volume of a gas has positive buoyancy, then it is _______ than the surrounding gas:
(A) Lighter (B) Heavier
(C) Equal (D) None of the above

238. A _______ is unable to propagate unless it can produce a flame temperature greater than
approximately 1300°C:
(A) Diffusion flame (B) Premixed flame
(C) Turbulent flame (D) None of the above

239. A _______ is the time it takes an occupant to perceive the alarm or fire cue and decide to take
action during evacuation:
(A) Time to notification (B) Response time
(C) Travel time (D) Pre-evacuation activity time

240. To allow a communication between any two radio transceivers, both radios must operate on the
_______ in the same frequency band:
(A) Same channel (B) Different channel
(C) Multiple channel (D) None of the above

241. The _______ may be due to consumption of fuel in a fuel-controlled fire or continued oxygen
depletion in a ventilation-controlled scenario:
(A) Incipient fire (B) Fire growth
(C) Steady state (D) Fire decay
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242. A base station is an essential part of any radio communication system and is usually installed in
a _______ location:

(A) Portable (B) Fixed
(C) Mobile (D) All of the above

243. The distance between two consecutive points or distance between two crests or troughs is termed
as:
(A) Cycle (B) Frequency

(C) Wavelength (D) Velocity
244. Materials absorb heat and form a hard char with thermal insulation characteristics to help seal

voids when exposed to heat is the fire stop technology termed as:
(A) Intumescent (B) Endothermic
(C) Insulative (D) Ablative

245. In PPSCBA set, the positive pressure normally been maintained in _______ while donning the
set:
(A) Air Cylinder (B) Face Mask
(C) Demand regulator (D) All of the above

246. On donning PPSCBA set for fire fighting operation, wearer has to carry out low pressure test,
which part of set need to be checked:

(A) Air Cylinder (B) Face Mask
(C) Warning whistle (D) Demand regulator

247. The air cylinder of PPSCBA has to be hydraulically tested after every:
(A) One year (B) Two year

(C) Four year (D) Five year
248. The level of fire protection to be provided at an airport is based on the _______ of the aeroplanes

using the airport and its frequency of operations:
(A) Capacity of aircraft (B) Length of aircraft
(C) Width of aircraft (D) None of the above

249. “Major accident” means an off-site incident involving loss of life outside the installation, or
_______ injuries outside or release of toxic chemicals or explosion or fire or spillage of hazardous
chemicals resulting in off-site emergencies or damage to equipment leading to stoppage of process
or adverse affects to the environment:
(A) One or more (B) Ten or more
(C) Twenty or more (D) All of the above

250. Chemicals having the LD50 (oral toxicity) values greater than 5 and which owing to their physical
and chemical properties are capable of producing major accident hazard is :

(A) Extremely toxic (B) Highly toxic
(C) Toxic (D) All of the above

251. An interview is a formal exchange of information. The Public Information Officer should know
as much as possible about the reporters, _______, and issues before providing an interview
about fire incident:
(A) Political head (B) Audiences

(C) Occupier (D) None of the above
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252. The _______ is a legal term that implies a deliberate intent to cause damage or injury due to
fire:
(A) Arson (B) Fire-play
(C) Fire-setting (D) All of the above

253. In well-ventilated flaming fires, nearly all the carbon lost from the combustibles is converted
to _______:
(A) Carbon Monoxide (B) Carbon Dioxide
(C) Hydrochloric Acid (D) All of the above

254. The _______ gases are flammable gases that spontaneously ignite in air:
(A) Cryogenic (B) Oxidizing
(C) Pyrophoric (D) Unstable reactive

255. The _______ refers to the overflowing of a container not on fire when water boils under the
surface of a viscous hot oil:
(A) Slopover (B) Frothover
(C) Boilover (D) None of the above

256. The _______ are sensitive explosives that nearly always detonate by simple means such as spark,
flame, impact, friction, or other primary heat sources of appropriate magnitude:
(A) Primary Explosives (B) Secondary Explosives
(C) Pyrotechnic (D) All of the above

257. If a solution PH value is 4, then the nature of solution would be _______:
(A) Alkaline (B) Acidic
(C) Neutral (D) None of the above

258. Underground flammable liquid storage tanks suspected of leaking should be tested
hydrostatically with the _______:
(A) Air (B) Water
(C) Same liquid (D) None of the above

259. Certain solids with a large pore-surface area selectively purify small concentrations of specific
gases. Activated carbon, silica or alumina gel, fuller’s earth and other clays are typical _______:
(A) Adsorbents (B) Absorbents
(C) Scrubber (D) Converter

260. All containers and bags for pathological waste should be _______ and labelled with the word
“infectious” and/or with the international biohazard symbol:
(A) Green (B) Blue
(C) Black (D) Red

261. A coal-handling system moves the coal from the storage pile to the boiler-furnace where it is
consumed to produce _______ in electric generating plant:
(A) Steam (B) Water
(C) Heat (D) None of the above

262. External exposure due to nuclear radiation at the time of a fire emergency can be judged by the
use of radiation _______, which measure radiation in roentgens:
(A) Dosimeter (B) Contamination Monitor
(C) Survey meter (D) All of the above
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263. In case of wild-land fires, as the steepness of the slope _______, the rate of fire spread increases:
(A) Decreases (B) Increases
(C) Remains same (D) None of the above

264. During hazardous material incident, use of oxygen meter to find out concentration of oxygen
signifies to select:
(A) Chemical protective clothing (B) Respiratory protection devices
(C) Safe area (D) All of the above

265. The _______ is the movement of a chemical through zippers, stitched seams, or imperfections,
such as pinholes, in a protective equipment material:
(A) Penetration (B) Permeation
(C) Degradation (D) Breakthrough time

266. The water level of a tank in a sprinkler installation is 60 meters above a pressure gauge. What
pressure in bar should register on the gauge?
(A) 0.6 Bar (B) 6.0 Bar
(C) 0.06 Bar (D) None of the above

267. The velocity of water flowing through the suction hose is constant and comparatively low because
of the _______ of the hose:
(A) Hardness (B) Smooth internal surface
(C) Large diameter (D) All of the above

268. If the dimensions of the rectangular tank is, length 8 meters, breadth 3 meters and depth 2
meters, the volume of the tank in liters would be :
(A) 48 L (B) 480 L
(C) 4800 L (D) 48000

269. When pumping from an open supply, the pressure on the inlet side of pump can be so low that
water can vapourise at the ambient temperature, forming vapour bubbles and giving rattling
sound is termed as:
(A) Cavitations (B) Water hammer
(C) Suction head (D) None of the above

270. The device used to measure the speed at which the engine is running is known as:
(A) Barometer (B) Tachometer
(C) Speedometer (D) None of the above

271. When analysing the need for a designed product or space, an ergonomic approach need to
address main elements such as:
(A) The user and work organisation
(B) Job and task characteristic
(C) Work environment and equipment design
(D) All of the above

272. The technique is a structured brainstorming approach using specific guide-words to examine
each part of a process plant at detailed design level prior to construction to identify hazards
and risk is?
(A) Event Tree Analysis (B) Fault Tree Analysis
(C) Hazard & Operability Studies (D) Preliminary Hazard Analysis
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273. The waist belts shoulder straps, hoisting straps, sole straps and all types of belts and harnesses
shall not break under a minimum tensile load of _______:
(A) 2 000 kg (B) 1500 kg
(C) 1200 kg (D) 1000 kg

274. A _______ is the placement of a device on an energy isolating device, in accordance with an
established procedure, ensuring that the energy isolating device and the equipment being
controlled cannot be operated until the device is removed:
(A) Tag out (B) Lockout
(C) Isolation (D) All of the above

275. Immediately after applying lockout or tagout devices, the authorized employee must ensure all
potentially hazardous stored or residual energy is:
(A) Relieved (B) Disconnected
(C) Restrained (D) All of the above

276. When opened or removed, the tripping mechanism and/or power automatically shuts off or
disengages and machine cannot cycle or be started until the machine guard is back in place is
termed as:
(A) Fixed guard (B) Interlocked guard
(C) Adjustable guard (D) Self-adjustable guard

277. As per OISD-116, in refinery the water spray application rate of 3 Ipm/m2 of tank shell area for
tank on fire are recommended for:
(A) Atmospheric storage tank (B) Pressure Storage Vessels
(C) Process Unit Area (D) LPG Bottling plant

278. The system for protection of fixed roof storage tanks comprises of high back pressure foam
generator connected through product lines or separate lines near the bottom of the tank is
known as:
(A) Fixed foam system (B) Sub-surface foam injection system
(C) Under the Seal Foam application (D) Semi-fixed foam system

279. Size of dikes to hold _______ of the contents of the largest tank within the diked area:
(A) 100 % (B) 125 %
(C) 150 % (D) 175%

280. Fire fighting Foam is not effective on the fires involving:
(A) Class D fires (B) Pressurised gas fires
(C) Three-dimensional fires (D) All of the above

281. The ensembles used for the activities of rescue, fire suppression and property conservation in
buildings, enclosed structures, vehicles, vessels and live properties that are involved in a fire or
emergency situation is:
(A) Proximity fire ensemble (B) Structural fire fighting ensemble
(C) Wild-land ensemble (D) All of the above

282. While attending hazmat emergency involving toxic substance, decontamination corridor must
be established in the control perimeter of:
(A) Hot zone (B) Warm zone
(C) Cold zone (D) All of the above
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283. The materials used for flashings and roofs melts at 327oC and therefore presents a danger of
molten metal to fire-fighters working beneath the roof is:
(A) Copper (B) Zinc
(C) Lead (D) Bronze

284. When the smoke alarm emits intermittent audible signals, what does it indicate to?
(A) Remove the battery (B) Call the fire department
(C) Replace the battery (D) Replace the smoke alarm

285. Which is NOT a type of fire sprinkler system?
(A) Pre-Action (B) Even-Distribution
(C) Dry type (D) Wet type

286. The intensity of the illumination of means of egress should be not less than:
(A) 1 foot candle measured at the floor (B) 1 foot candle measured 3’ above the floor
(C) 3 foot candles measured at the floor (D) 3 foot candles measured 3’ above the floor

287. Which one of the following principles is used to determine the necessary exit width?
(A) Design and application (B) Flow and capacity
(C) Width and movement (D) Construction and design

288. The first principle of good storage practice for chemicals is:
(A) Limiting Quantity (B) Concentration
(C) Containment (D) Segregation

289. The branch-circuit over current protection supplying the fire alarm system shall not exceed
_______ amperes:
(A) 20 A (B) 30 A
(C) 25 A (D) 15 A

290. What part of body gets affected by ‘Carpel Tunnel Syndrome’?
(A) Head (B) Hand
(C) Waist (D) All of the above

291. The Mono-ammonium Phosphate Dry Chemical (ABC) fire extinguishing media extinguishes
the fire by _______ principle:
(A) Smothering (B) Cooling
(C) Starvation (D) Breaking of chain reaction

292. In water stored pressure fire extinguisher, the working pressure and stored pressure would
remains:
(A) Same (B) Lower
(C) Higher (D) None of the above

293. If the ‘flash point’ of flammable liquid is higher, then the substance would be:
(A) More hazardous (B) Less hazardous
(C) No hazard (D) All of the above

294. What is the main toxic gas, the fire fighter has to bear in mind while rescuing a trapped person
from sewer:
(A) Hydrogen chloride (B) Carbon monoxide
(C) Hydrogen sulphide (D) Methane
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295. The Emergency Information Panel (EIP) as per Central Motor Vehicles Rules, 1989 should be
displayed at three locations on a carrier viz; extreme back and both sides of the vehicle with
_______ in front of the vehicle:

(A) Class label of hazmat (B) UN Number of hazmat

(C) Correct technical name hazmat (D) All of the above

296. What is the name of the medical problem associated with vibrating tools?

(A) Newton’s syndrome (B) Psychological syndrome

(C) Raynaud’s syndrome (D) None of the above

297. Which human body part has largest surface area, which get affected mostly during exposure to
hazardous chemicals?

(A) Skin (B) Lungs

(C) Digestive tract (D) All of the above

298. Name the dust which is more harmful to and associated with metal cleaning causing disease id
termed as:

(A) Pneumoconiosis (B) Dermatitis

(C) Silicosis (D) All of the above

299. The angle of extension ladder while pitching against any object should be one-fourth of the
_______:

(A) Building height (B) Working height of ladder

(C) Distance from the building at the base (D) Total height of ladder

300. List the body positions that should be avoided while lifting heavy load:

(A) Bending (B) Twisting

(C) Over-reaching (D) All of the above
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